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Construction: Onsite Construction (Level 3)
300 Onsite Construction Core

6. Construction measurement principles
Worksheet A: Additional calculations (tutor)
The drawing below shows the foundations for a new house. The foundations are 1m wide and 1.5m deep.
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1. Calculate the volume of concrete required for the foundations.
Area 1: 5m x 1m x 1.5m = 7.5m3
Area 2: 5m x 1m x 1.5m = 7.5m3
Area 3: 4m x 1m x 1.5m = 6m3
Area 4: 2m x 1m x 1.5m = 3m3
Area 5: 8m x 1m x 1.5m = 12m3
Area 6: 8m x 1m x 1.5m = 12m3
Total = 48m3
2. The ratio for the concrete for foundations is a mix of 1 part cement to 3 parts sand to 6 parts aggregates. Calculate:

(1 part + 3 parts + 6 parts = 10 parts total)

a) How much cement is required?
48m3 / 10 parts = 4.8m3 cement
b) How much sand is required?
48m3 /10 parts = 4.8m3 	4.8m3 x 3 parts = 14.4m3 sand
c) How much aggregate is required?
48m3 /10 parts = 4.8m3 	4.8m3 x 6 parts = 28.8m3 sand
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